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SOLUTION OF RIGHT TRIANGLES

1.1In a triangle ABC, right-angled at B, side BC = 20 cm and angle

A=30°. Find the length of AB.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ULcHZu33k1ZU

2. Without calculating other lengths, use tables to find the

angles z° and y°.

10

° Watch Video Solution



https://dl.doubtnut.com/l/_ahsvv44oMCvL

3. Use the information, given in the adjoining figure, to find :

A

(i) length of BD

° Watch Video Solution

4. Use the information, given in the adjoining figure, to find :



https://dl.doubtnut.com/l/_rXheDcmRLrlo
https://dl.doubtnut.com/l/_4NLJcWP0UeHd

(ii) angle Cii.e. 0

o Watch Video Solution

5. Use the information, given in the adjoining figure, to find :

A

(iii) length of BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_4NLJcWP0UeHd
https://dl.doubtnut.com/l/_mXFki2XmtWNp

6. From the adjoining figure, find the length of AC.

A

F-ﬂ-

° Watch Video Solution

7. In a rhombus ABCD, length of each side is 10 cm and

/A = 60°.Find the lengths of its diagonals AC and BD.


https://dl.doubtnut.com/l/_gOl7y0ty93c7
https://dl.doubtnut.com/l/_sU7V8QzMlFbi

o Watch Video Solution

8. In the given figure, a rocket is fired vertically upwards from
its launching pad P. It first rises 40 km vertically upwards and
then 40 km at 60° to the vertical. PA represents the first stage
of the journey and AB the second. C is a point vertically below B

on the horizontal level as P, calculate :


https://dl.doubtnut.com/l/_sU7V8QzMlFbi
https://dl.doubtnut.com/l/_mHAJPqPf73X9
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(i) the height of the rocket when it is at point B.

o Watch Video Solution

9. In the given figure, a rocket is fired vertically upwards from

its launching pad P. It first rises 40 km vertically upwards and


https://dl.doubtnut.com/l/_mHAJPqPf73X9
https://dl.doubtnut.com/l/_YFQtxYJDFpxV

then 40 km at 60° to the vertical. PA represents the first stage
of the journey and AB the second. C is a point vertically below B

on the horizontal level as P, calculate :
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(ii) the horizontal distance of point C from P.

o Watch Video Solution



https://dl.doubtnut.com/l/_YFQtxYJDFpxV
https://dl.doubtnut.com/l/_lwXKbwFq79aU

10. In the given figure,

AB 1 BC,DC 1 BC,BD 1 AC, /D = 30° and DC = 60+/3

m. Find the length of AB.

D

° Watch Video Solution



https://dl.doubtnut.com/l/_lwXKbwFq79aU

1. In the given figure, ABCD is a trapezium with angle

C =120°, DC = 28 cmand BC = 40 cm. Find :

(i) AB

° Watch Video Solution

12. In the given figure, ABCD is a trapezium with angle

C =120°, DC = 28 cmand BC = 40 cm. Find :


https://dl.doubtnut.com/l/_e7Q5C3fN2ha1
https://dl.doubtnut.com/l/_mFi42UsKV0Ft

B -

(i) AD

o Watch Video Solution

13. In the given figure, ABCD is a trapezium with angle

C =120°, DC = 28 cm and BC = 40 cm. Find :


https://dl.doubtnut.com/l/_mFi42UsKV0Ft
https://dl.doubtnut.com/l/_PlsswXlwvVVQ

(iii) the area of the trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_PlsswXlwvVVQ

1. Find 'x', if : (i)

° Watch Video Solution



https://dl.doubtnut.com/l/_AXrJSbYdPPug

2.Find 'x', if : (ii)

20

° Watch Video Solution



https://dl.doubtnut.com/l/_6EPewlZ6VUKE

3. Find 'X', if : (iii)

o Watch Video Solution



https://dl.doubtnut.com/l/_oBHekucKlsXo

4.Find angle 'A'if : (i)

20

10

o Watch Video Solution



https://dl.doubtnut.com/l/_Bu9rUAOhkAPD

5. Find angle 'A'if : (ii)

10 10

o Watch Video Solution



https://dl.doubtnut.com/l/_RtBRRJW5Aqnz

6. Find angle 'A'if : (iii)

10

1043

o Watch Video Solution



https://dl.doubtnut.com/l/_Vkn2nwbGam7P

7.Find angle 'x'if :

o Watch Video Solution



https://dl.doubtnut.com/l/_Tp1QM0KEeooM

8. Find AD, if : (i)

o Watch Video Solution



https://dl.doubtnut.com/l/_dAziR0qATxhR

9. Find AD, if : (ii)

° Watch Video Solution

10. Find the length of AD.
Given : ZABC = 60°,

/ZDBC = 45°


https://dl.doubtnut.com/l/_ssAlUVUZo703
https://dl.doubtnut.com/l/_BqTiR5M1oPGu

and BC = 40 cm.

B C

40 cm

o Watch Video Solution

11. Find lengths of diagonals AC and BD. Given AB = 60 cm and

/ZBAD = 60°.


https://dl.doubtnut.com/l/_BqTiR5M1oPGu
https://dl.doubtnut.com/l/_g5APjYH0GfH5

° Watch Video Solution



https://dl.doubtnut.com/l/_g5APjYH0GfH5

12. Find AB.

° Watch Video Solution

13. In trapezium ABCD, as shown, AB // DC, AD = DC = BC = 20 cm

and ZA = 60°. Find:


https://dl.doubtnut.com/l/_nen05uLrWbd6
https://dl.doubtnut.com/l/_yp9rRYwobEbP

(i) length of AB

° Watch Video Solution

14.In trapezium ABCD, as shown, AB // DC, AD = DC = BC =20 cm

and /A = 60°.Find:

D > C

v

A > B

(ii) distance between AB and DC.

| ° Watch Video Solution


https://dl.doubtnut.com/l/_yp9rRYwobEbP
https://dl.doubtnut.com/l/_Rin7M4mWZvht

15. Use the information given to find the length of AB.
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° Watch Video Solution



https://dl.doubtnut.com/l/_Rin7M4mWZvht
https://dl.doubtnut.com/l/_zVvpjpNKQiDH

16. Find the length of AB.

30 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_qMiKrcJ5LM5K

17. In the given figure, AB and EC are parallel to each other.

Sides AD and BC are 2 cm each and are perpendicular to AB.

A B

E D C

Given that ZAED = 60° and ZACD = 45°, calculate :

(i) AB

o Watch Video Solution



https://dl.doubtnut.com/l/_qMiKrcJ5LM5K
https://dl.doubtnut.com/l/_UjfEa5ZdrmmN

18. In the given figure, AB and EC are parallel to each other.

Sides AD and BC are 2 cm each and are perpendicular to AB.

A B

E D C

Given that ZAED = 60° and ZACD = 45°, calculate:

(i) AC

° Watch Video Solution



https://dl.doubtnut.com/l/_2lIwSfl81IxA

19. In the given figure, AB and EC are parallel to each other.

Sides AD and BC are 2 cm each and are perpendicular to AB.

“ B

C

Given that ZAED = 60° and ZACD = 45°, calculate:

(iii) AE

° Watch Video Solution



https://dl.doubtnut.com/l/_pO3kp7Txkn1m

20. In the given figure, /B = 60°, AB = 16 cm and BC = 23

cam.

i

B E C

Calculate:

(i) BE

o Watch Video Solution

21. In the given figure, /B = 60°, AB = 16 cm and BC = 23

cam.


https://dl.doubtnut.com/l/_oZXHdDduTyHQ
https://dl.doubtnut.com/l/_tlnviHBkHSVi

g E

Calculate:

(i) AC.

° Watch Video Solution



https://dl.doubtnut.com/l/_tlnviHBkHSVi

22.Find :

C <

(i) BC

o Watch Video Solution



https://dl.doubtnut.com/l/_Qru0FXNGlIjv

23.Find :

° Watch Video Solution



https://dl.doubtnut.com/l/_qOnHKcyhVaaq

24.Find :

(i) AC

o Watch Video Solution

25.In right-angle triangle ABC, /B = 90°. Find the magnitude
of angle A. If :
(i) AB is /3 times at BC

(ii) BC is 4/3 times of AB

° Watch Video Solution



https://dl.doubtnut.com/l/_ahv67taklw6E
https://dl.doubtnut.com/l/_baAM3vA6QmEM

26. In right-angle triangle ABC, /B = 90°. Find the magnitude
of angle A. If :
(i) AB is /3 times at BC

(ii) BC is /3 times of AB

° Watch Video Solution

27. A ladder is placed against a vertical tower. If the ladder
makes an angle of 30° with the ground and reached upto a

height of 15 m of the tower, find the length of the ladder.

o Watch Video Solution

28. A kite is attached to a 100 m long string. Find the greatest

height reached by the kite when its string makes an angle of


https://dl.doubtnut.com/l/_baAM3vA6QmEM
https://dl.doubtnut.com/l/_bc5G0MVwTGVv
https://dl.doubtnut.com/l/_FOALzSma9p3Z
https://dl.doubtnut.com/l/_Xc8wYgGeGvGn

60° with the travel round.

o Watch Video Solution

29. Find AB and BG, if: (i)

A

o Watch Video Solution



https://dl.doubtnut.com/l/_Xc8wYgGeGvGn
https://dl.doubtnut.com/l/_jYhmjPZOrqEp

30. Find AB and B, if: (ii)

o Watch Video Solution



https://dl.doubtnut.com/l/_yJCVYBGkhxIh

31.Find AB and BGC, if: (iii)

&
60° A 45
-
B LL re _‘[]
20 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_prNq59u2Glgh

32.Find PQ,if AB = 150 m, /P = 30° and ZQ = 45° (i)

A

30° M 4%

° Watch Video Solution

33.Find PQ,if AB = 150 m, /P = 30° and ZQ = 45° (ii)

A



https://dl.doubtnut.com/l/_ArAxakRnlv0p
https://dl.doubtnut.com/l/_WAEVcYrOs4dL

o Watch Video Solution

o 5 (o) 3
34, If tanz® = E,tany =7 and AB = 48 m, find the

length of CD.

o Watch Video Solution

35. The perimeter of a rhombus is 96 cm and obtuse angle of it

is 120°. Find the lengths of its diagonals.

la


https://dl.doubtnut.com/l/_WAEVcYrOs4dL
https://dl.doubtnut.com/l/_xu3wdlXa09kn
https://dl.doubtnut.com/l/_D8q9JY2zP8DE
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https://dl.doubtnut.com/l/_D8q9JY2zP8DE

